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Directions Q. No. 1 - 3:

A word has been written in four different ways

out of which only one is correctly spelt. Choose
the correctly spelt word.

1. (1) Parralel
(2) Paralel

(3) Parralell

\_(4) Parallel

2. (1) Hypocresy
(2) Hipocrisy
\(2)'_‘_’Hipocracy

(4) Hypocrisy

3 @/ Indigenius
(2) Indigenous
@) Indeginus

4) Indigenus

-

Directions Q. No. 4-6:

In the following items a word is followed by four
explanatory expressions. Choose the expression
that explains the given word correctly.

4. Wardrobe:
(1) a place where planes are kept
(2) aplace where official records are kept
{3)—aplace where clothes are kept

(4) aplace where horses are kept

5. Philistine :

(1) one who is a fine judge of literature
or art.

(2) one who is a novice as far as art and
literature are concerned

(3) one who is devoted to music

\(/4), one who does not like or understand
art, literature or music

6. Iconoclast :

(L__one who encourages idol worship

(2) one who is specially sent by God to
preach a particular religion

() one who is against all forms of
government

one who criticizes popular beliefs énd
established customs
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Directions Q. No.7-9:

Choose the word which best expresses the
meaning of the underlined word in each sentence.

7. The knowledge of nuclear power might
lead to annihilation :

(1)  immortality
(2) tremendous progress
(3) full healthfulness

(4) total destruction

8. The Minister condescended to accept our

invitation.

(1) felthappy

(2) declined
\@ deigned
_ (@) agreed

9. I was stunned at the unabashed display
of wealth in the wedding,.

(1) candid
(2) impressive
(3) accurate

4) shameless

Directions Q. No.10-13: VI R

Each of the sentences given below has been
divided into four parts viz (1), (2), (3), (4). One of
the parts contains an error. Choose the part which

has the error.

10. Walking / across the street / atruck
1) .2 ©)

knocked him down .

J

11. No sooner we entered / than he got up /

&) 2~
and left / the room .

©) )

12.. This pond is flooded /

JD—

with water because /
)
it is raining continuously for the /
(3)
last three days .
@)

13. WhenIwent / tohishouse, /
(1) )
I found that / he had been died .

\(y @
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Directions Q. No. 14 - 16 :
Choose the option which best expresses the

meaning of the underlined idiom/ phrasein each
sentence.

14. Hehad second thoughts

a

(2) changed his mind

planned very carefully

()  decided to go elsewhere

(4)  decided to take somebody with him

15. He knows
buttered :

which side his bread is

(1)  knows where his advantage lies
(2)  knows the art of cooking

(3) knows how to butter a slice

JQ,Jmows how to chatter

16. You must keep your head whatever

happens :

(1) remain calm

(2) be honest

\choncentrate

(4) e self respecting

Directions Q. No.17 - 20:

In the following sentences one part of the sentence
is italicised. Four alternatives to the italicised part
which may improve the sentence are given.
Choose the appropriate alternative.

17.  Rohit has got many friends because he has
got much money.

\@/a' lot of money

(2) bags of money
(3) tons of money

(4) enough money

18. The secret information was held away from

me :

(1) back
(2) out
3) wup
(4) off

19.  Hespent much time and energy over it, and
lost a lot of money in the bargain.

M~ Tor the bargain
(2) into the bargain
(3)  with the bargain
(4)  off the bargain

20. The main business of the Parliament is to

deal with matters pertained to the legislation,
(1) pertained with

2 pertaining to

\@)/pe/rtain to

(4) pertaining with
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21, ‘9% PR-T AW ®? 9 feu u fawei

| O fasew &1 w1 =ifwg

(1) TEEEES

2) TreEEs
() TEYaE®

@ F=gEEs

22, ‘o’ WA W TR W VR W A9 fu Mg
fafs= fawedi § 4 9T :
1) frEe
@ @

(3) Y@

&VW

23, frefafaa fawed § @ W S YAl arl
& & A HIT :

24.

25.

26.

‘u 3R T R’ - 39 Aieifa i wE o
2 feu o fasnedl § @ 9T :

1) g 4 SR = A A
9) AT %A gfd fe
g

@) IFR I 9 g1 THE ARl
(4) Wk o % HH =EA Gt
frafatad fasmed § ¥ g 9 94 :

(1) =R 37eH % foag @ =
Kz)/ﬂﬁa"r—rW@ﬁm
(3) AW & W F faw Tt e 3|

@) <& 6 9oR et T

fr=fafos v=6) @ @ o I - 8 ?

1) =l (1) S
@ T () WIR
\9)/?&1 (@) Y
4 = @) fawrm
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27, Tt foamedi @ ‘' i 1 e | 30. RS - T TR S —
Bifex - ? ' '
(1) i \P ST e
(2 @(“ﬁﬁgwwmﬁwﬁm%l
¢ e (3) TE wEf-faama sy &)
o
i sl @) T TS-TS diEn o g R
31. frafafad s & fog fau s 4 9
28. ‘'Y R W AT I UEl 9ga9H ©Y HH Tsg T 997 ST :
T
'H9 FB SFAare”
1) FRWRER
(1) ¥FEH
\2— TR T
\@_ﬁi
(B) WTWEEI ¢ wd
4) TR @ e
29, o sy % SsAf@ A A vt Fn R | 32, S few mu avl faedw % ferw wd U
€2 frfafaa fasedl § Q sygw faeeg =i Frfafea fasmedl # @ gf
e ST
S+ THY+Z+H+IA :
1 ¥ :
| 1) mfus ,-
@ = ®) g ]
(@ @) e 4
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33.

g+t Gy § wH-W v o

37, frfafaa 8 & S -9 575 THM i 3R
& €7 & fosheq =1 5ad HINT :
1) = -
L y (1) R-E
Q) = ;
\g)/zﬁw
@ e @) fo-fa
4 ve=d @ -
34. :m'mnﬁﬁﬁhnwﬁmﬁrﬁaaﬁaﬁﬁ 38, ‘o TEA A UG B’ - 3@ AR H FH-H
s e 32 Frefean el 4 3 W@
1) FEW 1 TF i | -
@ T (1) TR W
(3) WEN @ FE R
) (@) i
35, fr=fafaa fawed 4 9 @ fawey 9w = :
qgigarEt vee TE §, 39 s 39, < T = vy fawg sl 9§, @ SE-a
e BT & 2 i fou fasredl § @ wd fawey
@ = # gfre
@ ¥ ()__FgT=
@) famr (2) SEErA
3) R T
@ o 4) wHHaTA
36. ‘ST’ e H H-w SuEi £ 2 MR fRu T | 40, ‘3EA I W@ welt’ - a9 ¥ SH-9 SRS
fomedi ® @ =7F w9 2?2 9 fa g faewedi # @ w@ oo =
1\ o Tg9H o ;
&~ @__aﬁﬁw
(= SR (2) T FH
@) s @) SAHE FRE
(4 (@) TFHERH
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41.

42,

43.

Frisha ' fafr’ o R & ¥ gameii  faen
qUT TAYTAT &% WG w Y w911 39
A i fFEa Y i o2

(1) ﬁwﬁmmmﬁ
\(2)~ faum 3R drifir faam

() ST 3R SR WA
(4) HHE FHIYE qAd

Tdia & Wghed (FHTaed) § fea a0
(2016) % ATE 3 foha W 3HF T @ T
2

0y 51

@) 52

C)

&%50

a4 2016 3 FeHHET Il Gl & FS
A gd AT A TS &
g Heot gren el i qmA w9
ol

S5

Fergrgfrem

@ =1
@) g ferm

Wﬁw

(1)

41.

42,

43.

The Programme called NIDHI aims at
nurturing ideas and innovation of the
youth of the country. It was launched

by :

iy HEE

©)

Department of Science and

Technology

(3) Ministry of Commerce and Industry

(4) HRD Ministry

After the departure of Maldives (2016) how
many nations are the members of

commonwealth ?

1) 51
2) 52
3) 53
4) 50

Months before the 2016 Summer Olympics
the host Country Brazil had to face safety
concerns surrounding

(1) Chikungunia
(2) Dengue

(3) Herpes simplex
(4) Zika virus
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44. A & H F T Swon & 3ER, < WX & | 4. According to a recent announcement
et faemera o1 ‘ gaewefer i SR’ Kendriya Vidyalayas across the country,
& 3farTa T e w1 fre A A e wfa under the recently launched
AT B 6t e yem i ? ‘Compassionate Citizen’ programme, will
now teach their children to be kind to :
(1) S (1) Animals
(2) ¥I= (2) Human beings
B =g (3) Reptiles
(@) e (4) Birds
45. frefafed 9 fFa fassa sfeas s ewm | 45, Who among the following has been named
TR XI 1 HWH ST T €2 captain of Wisden’s India’s All Time Test
XI?
(1) THTE & (1) MS Dhoni
() =R v (2) Ishant Sharma
\E’J—-—“I;i A < (3) Kapil Dev
(@) Toe et (4) Virat Kohli
46. 'Wﬁi}"f' g W '{:{\?ﬁ ED IR, HRd =1 | 46. According to a list released by fortune,
Sraam™ &1 g § Y <@ India’s is among the top ten
aitfuer wiferemel Afeemeii § 9 €| most powerful women in business.
(1) TR R (1) Chanda Kochhar
@ fra vt (2) Shikha Sharma
3) sf<a 1§ (3) Indira Nooyi
4) 3REUId W (4) Arundhati Bhattacharya
Nl )
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47, ﬁ&raﬁaﬁqm(zols)ﬁmwmw
LEREERE T

1) Tris
(2)

G) IJTEy

48. A& H 3N o wHRE S AT anfeiye A

s T W S S HEne )
I 13 Ufeeiiaer fumr & 2

@ S AR fretd=g 7 o= 2wl &
el 1furl =1 g frar B

(3) HF & FYYA S -9 H e
it 72 foan man 2

(4)  <faor == R W A % freE e emEn
Tl

49. TS w9 Fard AMe (2016) fFam Sitar ?

47.

48.

49,

In Rio Olympics (2016) women’s football
final match was won by

(1) England

(2) Germany
(3) USA.
(4) France

Recently the Hague based Permanent Court
of Arbitration ruled that :

(1) China has no historic rights to
resources of waters of the South
China Sea.

(2) China together with Philippines has
violated the Sovereign rights of
others.

(3) China’ssovereign territory has never
been defined.

(4) China has rightfully claimed its
control over South China Sea.

Durand Cup Football tournament (2016)
was won by :

- AESIcl eaTed Foid (1)  Aizwal Football Club
@ 3w IA (2)  Army Green
(B) AU Feed T (3) Neroca Football Club
(4) ST ST HIEHE (4  Mohan Bagan Kolkata
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50. o @ H AN (2016) WRA - Fele Wk | 50. __ was declared Player of Series
frardasfmad_ ) jmawas in recently held (2016) India-New Zealand
faerSt =iftm o ODI series. '

1) = S (1) Ravindra Jadeja
) e wret (2) Virat Kohli
() 3fa fasn (3) Amit Mishra
4) _ AR A" i
\(} (4) R.Ashwin

51. 9IS (2016) Wil # a1 Hfer® 9eH | 51 Deepa Malik was the first Indian woman
EiGE! W.%Fﬁ Yt afeen @ E1 s to win a medal at Para Olympics (2016).
form @a # wm e a2 Which event did she participate in ?

(L WMeTe (1) Shot Put
(2 FRmeTsh (2) Shooting
(3) ORI (3) Swimming
(@) SEfe A (49) Javelin Throw
52. Frfafed # | foFd Thest TEHR 2016 % | 52 Who among the following has been
faa g g? selected for the award of Eklavya Puraskar
2016 ?
(1) et oy (1) PV Sindhu
(2) gl A= (2) Shravani Nanda
() i Fia (3) Sunil Kant
& et =< (4) Duli chand
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53 TEve o w R e siiref e
&F R W Ig ¥ g ad 2015 § Frefafea
H ol et goer v foan T ?
(1) e arER

() U= I

@) % E

@ e

54 =d0016 ¥ fE Sty § Taw @ F @l
e W F ST W S R S F €2

1) A

@
@ [ERGRIL]
(@) <faor i

55. m@mmafaﬂaﬁ%mﬁﬂﬁr@a

53. Who among the following received
Padma Shri in 2015 for being first amputee
to reach the summit of Mt. Everest ?

(1) Ashwini Waskar
() Bachendri Pal
3) Laxmi Agarwal

(4) Arunima Sinha

54. Which country does Ma Long, the gol‘d
medalist in Table Tennis at Rio Olympic

2016, belong to :
(1) Japan
(2) China
(3) Vietnam

(4) South Korea

55. Who would be the first lady of USA after

F @ 9 7 T T H Jod Afeat Bt 2 the swearing in of Donald Trump ?

(1) Fer g9 (1) Melanie Trump

\(j)/ =t 29 (2) Maria Trump

(3) et £ (3) Melanija Trump

(4) AT (4) Melania Trump R
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- Latest Sarkari Jobs, Govt Exam Results,
2 3 Know More
Vacancies and updates on one click




56. 14 ¥ wureafiys @91 Se9al | 56.  The State whose Board of Secondary and
Azt e a9 3 vigg g  wiftn e Higher Secondary Education has deleted a
Tt T e w1 7 e R chapter on Maria Sharapova from a text

book is
(1) TeEE (1) Gujarat
M ) Goa
(3) df g (3) Tamil Nadu
@ TSEH (4) Rajasthan
57. 3waH =med A frefefea § ¥ fha® sl | 57.  The Supreme Court appointed Justice
j :ﬁa & ford = <t $9a &1 77 feen Iidha Panel to look into the functioning
\(yﬁ it =it a1 (1) BCCI
2 o @ 1CC
(@) TuEH (3) ACC
4) TEWW (@) AlICC
58, frAfafad § 4 64 U3RARE A TH WFH % | 58.  Which of tl{e following Airlines has posted
1 T 105 FIg 1 A feaman &2 a profit of T 105 crore after a decade ?
(1) T Efem (1) Air India
@ = (2) Indigo
(@) I (3) Vayudoot
qu W AR (4) Indian Airlines
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59.

Whoare thé winners of under - 18 Asia Cup

HOTE 7 A W g vt ¥ ey e w9 | 59,
&Il 2016 T fordvan o &2 Hockey 2016 ?
1) wferwm (1) Pakistan
2 rTERw (2) Bangladesh
o (3) India
(4) (4) SriLanka
60. WRH SuIE St ¥2-18 (G SAT - 18) FFG% | 60. What is Indian satellite G SAT - 18 about ?
RELE %4
\(p, T HEAR (1) Telecommunication
(2) ORI I freRT (2) Star-gazing
() gEU HI FRE (3) Pollution monitoring
4) o &1 (4) Weather monitoring
61. 31eR H FH-91 UYE @iell TH W FHAR | 61.  Which one set of letters when sequentially
@I Q& T HER H@e H G HAM? placed at the gaps in the given letter series
shall complete it ?
vl_klv_1kkl_v_kklv_ vl_klv_1kkl_v_kklv_
‘g kvvlyv 1) kvvlv
@ 1kvkl @ 1kvkl
@) vllkv @) vllkv
4 klvkk @ klvkk
M/ Page 14 % @i & fI W& / SPACE FOR ROUGH WORK PKJ 17-1
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62. Th TUA H Th TR FITS W@ g ¥ | 62, A one rupee coin is placed on a piece of
IHF WI SH IHR F R iR fawy = paper. How many more coins of the same
TR @ S WA € T Tl s g @ size may be placed such that each touches
faeh ol R WY % 37 foawi =y TATTE? the central coin and two adjacent coins ?
1 5 1 5
2 6 2 6
@ 7 @ 7
@ 4 @ 4
63. e 1T61TH TR Q’é HAFW4Y fawfsa |63 If all the numbers from 1 to 61 which are
ST %f e gL FA | m ford < <y divisible by 4, are arranged in ascending
q 89 M W HIA-91 3% & 2 position, then which number will be at
8t position from the lowest ?
‘Q/ 32 (1) 32
2 36 2 36
(3 40 @) 40
@) 28 @ 28
64. I H TH A H a9 a2 108, T V8T | 64. In a row of buses if bus Number 108 is 8th
M T R 99 G917 201 119 ¥ 14§ ©=H W from the front. Bus Number 201 is the
g1 I 98 F = owd €1 aEA H g 14" from the rear end. There are nine buses
frat a9 €2 between them. How many buses are there
in the row ?
1) 26 1) 26
@ 29 @ 29
\(}),. 31 3 3
@ 23 4 23
M/Page 15  T% T4 & {10 7% / SPACE FOR ROUGH WORK
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65.

PR el 99 %) # wh R 3
Q F T H Mg TaRe ‘S, P & frg
TE | Hafyg 32

1) =&
2L, §f

(3) HrEt
@ <

65.

‘P’ is the only daughter of ‘R’. ‘R"is a
grandmother of ‘Q’. The name of “Q’s sister
is ‘S’, then what is the relation of ‘'S’ to ‘P" ?

(1) Sister
(2) Mother
3) Aunt

(4) Daughter

66. T Afd Arforal ¥ IT &l AR 9al, 396 | 66. A person rode a bicycle in North ward
a1 T gee 3 feh . e, frt = gt oik direction then turned left and rode 3 km,
2 f . =@l o7 3T T Y A A and again turned left and rode 2 km. He
YR T | 3 3 .. o | aman found himself exactly 3 km West of the
TE R T I HT AR T =ern o1 ? Starting point. How far did he ride
North ward initially ?
1) 2 & (1) 2km
@ 3feHL (2) 3km
@) 5fRHL 3) 5km
| @) 1fed 4 1km
M/ Page 16 % T4 & {7 STE / SPACE FOR ROUGH WORK
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67. = fau my fo W anuifa %o frsd feg e | 67.  Based on the given figure, following
¥ fremd ggef conclusions are drawn. Identify the true
Conclusion.
,@ ./ Graduate
Post
Graduate
Conclusion:
@ Wi TEEE () Al boys are sons.
1) FS EAH SAGHR | (I) Some graduates are post Graduates.
(W) FO TS T € | (Ill) Some boys are graduates.
(IV) FS TR ASH @ | (IV) Some post graduates are boys.
(A1), (1) (IV) &4 (1) (1), (Iii) and (IV) are true
2) (I)SAV)TIE ) (lll) and (iV) are true
@) I FEEE (3) (1) and (III) are true
4) (1), ()s (1) Fa € @) (I, (IT) and (III) are true
68. e TIo=Aat SuA § 30% B.Tech @9125% | 68. In a software development company, 30%
MBA et s wear €1 20% T € 57 workers are B.Tech degree holders, 25% are
qrg 3 3 fefuar &1 3R 325 Hugr fom MBAs, and 20% hold both these degrees.
frd) sraatas fot & & o, F9 4 Fd [f 325 workers are without any professional
foraa A= € ? degree, how many workers are there in the
company in all ?
(1) 425 (1) 425
\2~ 500 (2) 500
(3) 625 3) 625
(4) 390 4 3%
M/Page 17 I% @ & fow s°E / SPACE FOR ROUGH WORK PK] 17-1
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o 1;? q A - WEH-Tg 3 19 9 i | 69.  Which of the following number sets is
’ different from other three ?
JB- 17.31,21,37) ' 1) {7,31,21,37)
2 {5,13,17,29) @ 1513,17,29)
®) 37,11,23 () {3711,23)
4) {11,31,13,43) 4) {11,31,13,43)
70. qﬁ+3ﬂ$¥?jx,+$131?f+,—-361319f-:— 70. If + means X, + means +, — means +
AN x F A4 — AN 56—-8x5+4+7 F and X means —. Find the value of
HH 81 : 56—-8x5+4+7:
1 27 L 27
B 30 2 30
3) 32 @) 32
4) 25 @ 25
71. T7=1 Soft =1 3rTen wg B 71. _ Write the next term in the following series : |
15, 10, 45, 20, 135, 30 ; 15, 10, 45, 20, 135, 30
(1) 205 1) 205
(2 305 (2 305
N3y 405 (3) 405
4) 40 (4) 40
M/ Page 18 TF F1d & f s7% / SPACE FOR ROUGH WORK PK]J 17-1
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72. faumg :Eﬁﬁ_"i ﬁ q I I H 9f1q fsr@ faw | 72, From the given alternatives select the word
T I A 5 TN BRI e W HHA R which can be formed by using the letters of
the given word.
INTELLIGENCE [NTELLIGENCE
W~ ENGINE (1) ENGINE
(2) ENTRANCE (2) ENTRANCE
(3) TEENAGE (3) TEENAGE
(4) CANCEL (4) CANCEL
73. U =AfF 3 foF. Al I feon & wem= ofvaw | 73, A man moves 3 km North, then turns West
Il 3R S a1 § 3% e 2 fmaft, = &1 and moves 2 km, again he turns North and
AETRENT 98 ST Hl AR HH 1 Ff o, =emn walks 1 km, and 5 km towards East. How
R R gd ot e 5 for . e &1 7@ A far is he now from his original place ?
3T AR T | fraft R 2
(1) 10fEA. (1) 10km
(2) 8f&wH. 2) 8km
\@/-5 ok (3) 5km
@) 11fFHL 4) 11km
74, U Wifaes I # W RESPONSE F1 fof@l | 74.  In certain Code Language, the word
ST & ESNOPSER, @1 ¥/ SYMBOLIC & RESPONGSE is coded as ESNOPSER. Then
a1 <A the word SYMBOLIC will be coded as :
1) CILYMBOS (1) CILYMBOS
(2) BOSLYCIS (2) BOSLYCIS
A3} —€ILOBMYS (3) CILOBMYS
(4) LYMBOCIS G
% ferg STE / SPACE FOR ROUGH WORK PKJ 17-1
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75. : y
=1 St = ST 9% fafiem 75. Write the next term of the following
- ‘2 g (\.‘8 number series.
»29, 56,108, 205, 400 . 15, 29, 56, 108, 205, 400
(1) 758 (1) 758
\2- 768 (2) 768
@) 770 3) 770
(4) 756 @ 756
76.  dTIEHCH, m 3R U fave) & A & | 76. A survey of 50 cars was conducted for
TeTT 50 &R & geeror fomar e e ?ﬁ‘ﬂ'ﬁ options of air conditioning, radio and |
T 3 | power windows. The following
information was found :
(@) 30 FR STaHied (@) 30 cars with air conditioning
(b) 4R ATgGhea adgr grer fowel fereg (b) 4 cars with air conditioning and
fear & power windows but no radio
(©) 21 %R Iea & Ty (¢) 21 cars with radio
(d) 12 FRIEH qe1 FagHeH & Ty fereg (d) 12 cars with radio and air
e fawet =& conditioning but no power window
(e) 20K ueR famet & @iy (e) 20 cars with power window
() TH HR IASA a2 IR fa=<i & |y ()  1car with radio and power windows
(g 6 R At gfawned & [y (g) 6 cars with all the three options
QoA Question :
et &I =g Gferen =& ot ? What is the number of cars that had none
of the options ?
1 6 1) 6
(2) 8 6 42t 2 8
3 0 3 1
\()/l 9 Uzt B) 10
@) 4 4) 4
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78.

79.

AT 1 31 ot 2
1 2734
N2 2499
() 267d
(4) 21794

AT + T x, — Fd =, % w1 a1 -

’

A+ FTAS + B, W 16X4+12—4+18 Fl
HE B :

1) 20
\2—22
@) 24

@) 18

fom 8§ § 1 1 foRdll U1 & SUR R T T F
1 | 9€ TF HH-H1 E A WE H W
& ?

(1) e

(2 =R

@) wegHifEA
@

77. A man is 4 years older than his wife. The

78.

79.

wife is three times as old as their daughter.
The present age of daughter is 10 years.
How old was the man when his daughter
was born ?

(1) 27 years
(2) 24years
(3) 26years

(4) 21years

If + means X, — means +, X means —
and + means +, then find the value of
16 x4+12-4+18:

1 20
2 22
@) 24
@ 18

Three of the following form a group based
on an attribute. Find the one which has
different attribute.

(1) Copper
(2) Silver
(3) Aluminium

(4) Brass

((Wt} 3B Latest Sarkari Jobs, Govt Exam Results, m
| Vacancies and updates on one click
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o ﬁqﬂqﬁmﬁﬁﬁmqu%wl

80. Select the related letter-group from the
given alternatives.
ADG]:?::MPSV;NKHE ADG]J:?::MPSV:NKHE
1) zZwTtqQ 1) ZWTQ
2 zwqQr 2 ZWQT
G) suvy @ SUVY
\(ﬁ/ ZXTS @4) ZXTS
81. muE(A): 81. Assertion (A):
ST WA 39w, s 2R T Social constructivist approach contributes
foer i w wen w6 sifvm fagr o to learning theory by focussing on thinking
A T R processes when learning takes place.
@& (R) : Reason (R) :
T w1 o € o foaneft @4, st =t Knowledge is assumed to be constructed
a1 34 ¥ 31 safonm =i Y= w5t wfie by learners themselves and learning is seen
wfsean 3iR e % w9 F @1 o ¥ as an active process of construction and
knowledge accumulation.
ST FYA1 & G F T T@ IHA 9T In the context of above statements, select
the correct one :
&y (A)TAREGR) AR (1)  (A)is true but (R) is false
(2) HI(A) R (R) T E SR (R), (A) T (2) Both (A) and (R) are true and (R) is
e § the explanation of (A)
@) (A m%ﬁr—g (R) &1 §A TF1 AE¥TH (3) (A) is true but (R) is not necessarily
T be true
@) 32 (A) N (R) T G (R), (A) R (4)  Both (A) and (R) are true but (R) is
SATEA TEl 7 not an explanation of (A)
M/ Page 22 T% %14 % f7 S1g / SPACE FOR ROUGH WORK PK] 17-1
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N

g2, N H UH WA W ) 2,

83.

e
Tqeh! g frehTer =nfyu | R

(1) o FH & T e g
Al

(2 FuEEE § TS W= g

(3) T Rl | T w == g
(@) WEA H I RER F =t g
Sfra Mieds & Wil gfs & faga &
FTER fgehi w1 Qiafits afass w e 2
afen it =afFaTa g # frata s e sa%

g1 feu U wiafs 9fg & &5 F w9
RECIE L

(4) ST STReSRaT, Ao, e FrE,

82.

83.

An unhappy incident happened in a class.
The teacher should find the solution by :

(1) Discussing the matter in the class
only

(2) Discussing the matter with the

Principal

(3) Discussing the matter with his/her

colleagues

(4) Discussing the matter with his/her
family

Daniel Goleman’s theory of emotional
intelligence suggests that educators need
to consider the emotional brain, which
controls personal intelligence. From the
following, identify which combination of
dimensions of emotional intelligence he

claimed ?

(1)  Selfregulation, motivation, simpathy,
self respect and social skill

(2) Self concept, self respect, self
regulation, motivation and empathy

(@) Social skill, self awareness, self
respect, empathy and motivation

(4) Self awareness, motivation, self
regulation, empathy and social skil]
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B e

84. ﬁ-qﬁ;%?\.
0 %?ﬁﬁ"‘m%ﬁrwmm@

D) e 3efied ey oy furenrofei 53 e
@ wa o

) N Rsnfii 7t sufety

(4)  ToenfeiRi gro v T e v

85. fr=ifea o @S- fag <v3- 7= amoit
% TN T AN TE T2
Vﬁﬁﬁuﬁgﬁmﬁ@a
) =T =g
(3) guraenferal <1 fagr
(4) SUeEd F fag

86. U YA T uftog o g ffifa faareni

¥ sreaEtaE sl Faaeet | f=ifea 4
q -7, frenfeddi & vfa afee o affea
& B2

arqt foreror fafy =1 fyanfeai &t

1)
HTEgFaIs & STTEd el ol ©
yﬁmﬁﬁf@ﬁuﬁﬁmaﬁmm

# rar-faar 1 gfad i 8

@) et St % Wit vl 4 i 9
AT Ui &1 A S §

(@) o frenfede 1 3 o ¥ S S
T ©

84. Which of the following is an important
indicator of best teaching ?

(1) Number of students passing the
examination
2) Complete silence in the classroom

(3) Attendance of students in the

classroom
4) Meaningful questions asked by
students

85. Which of the following principles is not
applicable to the use of audio visual aids ?

(1)  Principle of fulfilment of objectives
(2)  Principle of selection
(3) Principle of effectiveness

(4) Principle of utility

86. As per the code of professional ethics for
teachers, framed by NCTE. Which of the
following is not included under the
obligations towards students ?

(1) Adapts his/her teaching to the

individual needs of students

Informs parents the confidential
matters related to students for their
benefit

)

(3)  Respects human dignity of the child

in all aspects of school life.

Treats all students with love and
affection

(4)
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87.

88.

89.

frifera ® @S- {-s1fm ) g
faferea 2

(1) W39 Fa F AR Sufeafy

(2) a3 Fiwa iR g Tt &

(3) RS e ¥ vet ¥ fere 7w
S Uhal &
4) mfwmmwﬁraqgaq%

IEERICEERIE R Ck cEE CE e Ry

T AR 11 FEwR § Tag 5w 3,
3 FEd T |

(1) SR TeT=E

(2) R e

(3) Frsfem Tew=a

@) Qfas greT=E

T&F G5 T {69 H, T &1.0 & BF & 41
oot % o1=q B TE H oA ISl A1l T9E g
FIE ot TIan A1 ILEIo el 2T o | e SR
®:

87.

88.

89.

Which among the following is a common
feature of E-learning ?

(1)  Always require physical presence in
the class

(2) Time and cost are very high

(3) Documents cannot be downloaded

for later reading

\@,,Leaming in self-paced

In a curriculum, if there is linking
knowledge from one lesson to the next
across a programme of study, it is :

(1) Vertical curriculum
(2) Topical curriculum

@.)—- Spiral curriculum

(4) Horizontal curriculum

Atone time in a state a B.A. Student had to
appear in the examination at the end of
three years only. There was no examination
or any test before that. This is an example
of :

(1) e iR Hl (1) Summative Evaluation
-\@/ ey smenfia Fedishd &1 (2) Criterion Evaluation
(3) e el & (3) Annual Evaluation
@) fawrEmcHs Hedis &l (4) Formative Evaluation
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90. Tt
TRy 3
IR gy

(1) m’mq’;"iﬁ"mwm

& el & = e

4) ¥ U IS TeAgE F w G

oL “___ o e fafe < o e
H TGN FF @R I H Wi § gers
=it €1 foremil W fofa 1 #34 gu st
foramil < fershr W IR foan s 8; wft foramdi

90. Which role of a teacher is crucial in present

day context ?

Teacher as a facilitator of learning

)

(2) Teacher as a good teacher and a
manager of teaching learning process

Teacher as a strong motivator

3)

Teacher as a good class room teacher

4)

9. = is a teaching method helpful
to discover new ideas and responses very
quickly. The focus is on generating as many
ideas as possible without judging them ; All

1 qHA Hecd foan smar €17 57 4 Tl ideas are given equal credence”. Select
gMHT| the correct one.
1) fFwE-3hEE (1) Role play
\(9/ yf=st fafy (2) Discussion method
@) frarEw (3) Brainstorming
@) TsH-94 (4) Buzz session
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92.

5 et 2 o e
T et ¥ 2 S

(1) Wﬂﬁm@nmﬁﬂmmaﬂm
T SEeT =g |

) &wﬁﬁw@mmm@g

T T 1 uh v e 9
THH! AT TE H wifew

3 @wﬁ SATTIT  WHI-¥HY X

93.

HEAIFATTIR S = |

.. @ @mmﬁﬁ%m@@ﬁm@:

frifera #§ 9 fora 91 § s1eamss fafifa oik
TR TX&i | ST Bl § 7

(1) ool it favasetaar 3R dud
() el # weifed fauaasg
](}L Tltequi o 37 i fafy

@) ol % QU HE

92.

93.

What is the most advisable way of
organising the class room furniture ?

(1) Its arrangement should change on

daily or weekly basis

(2) Classroom furniture has no relevance
to teaching and learning. So a teacher
should not worry about this

(3) Its arrangement should change from
time to time as per the requirement

(4) Once, it has been fixed, it should not
be disturbed

In which of the following aspects,
standardized achievement tests and teacher

~ made tests differ ?

(I)  Reliability and Validity of the tests

(2) Content covered by the tests

(3)  Process of scoring of the tests

(4) Time for completion of the tests
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e

I Shfers I A v
(2) Ty

@) =g fawedia wwA

@) e g

95. el TR T T LA P AW FH A
=ifeq ?
1) emyf iR ST

) forg gu A B AW €, 3 §AS

G A
" (3 Toft foreri 2 T 9t et A1feT
N foa Hed & 3q1 9
96. g 3R g & N S E 2
(1) QTR TTEEEl F WA
@fmaﬂaﬂfﬁmgﬁ%ﬂmmﬁm
ot €
3) et S TR T A €
@ qressr<a IR T €

9.

95.

96.

g test items, which of the
onsidered

While preparin
following types
as easy to score, bu

of questions are ¢
¢t difficult to construct ?

Alternative response type

1)
(2) Short answer type

(3) Multiple choice type

(4) Essay type

At school level what should be the dress of

a teacher ?

(1) Modern and upto date

Just like normal dress of that society

(2)
to which the students belong

It should be same for all teachers

)

(4) Assimple as possible

What is the difference between curriculum

and syllabus ?
(1)  Syllabus is part of curriculum

(2) Curriculum includes text books and
syllabus

(3) Curriculum and syllabus are same

(4) Curriculum is part of syllabus

—
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97. =1 @ = wmafus el fass F wivam

| gafyd e T ¥
(1) TAHEFZ

(3) SEUATHTY

4) TAFIGLu

98. MIATH &3 & Zovdl FI WA FH A9 FH
waifus Ffeaa & sEn E

(1) 916.:';:.32.' ahl, A60] Al qfrqfi-?.n EXGCIN
[/ied 1 3—1;‘7? CIte |

() TEw &, Siatwa FTA1, YAl Hd A,

() wfafEa &0, qeAtea w0, Fe
FTI, TEW FA A I

rg@iﬁﬁ!mamaﬁm

97.  Whichof the follnwing is a national agency

related to training of secondary school
teachers ?

(1) NCTE

(2) NCERT

(3) INSA

(4) NUEPA

98. The correct arrangement of objectives
under affective domain, from least to most

complex is :

(1) responding, receiving, valuing,

organization and characterization

(2) receiving, responding, valuing,

organization and characterization

(3) responding, valuing, organization,
receiving and characterization

(4)  receiving, responding, organization,

valuing and characterization
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B e ,
L

T e TeT 3 e e Hey frag ¥2 99. The teaching of biology has correlation
with :
@) e (a) Economics
b)  fe (b) Hindi
©  sfrem (c) History
(d)  FrEeR fagm (d) Computer Science
(e)  ifaart (e) Physics
1) @) ®), ©, @ 3R (e) (1) (@, (b), (), (d) and (e)
2 (@) (), (0) IR (d) 2) (a), (b), () and (d)
3) (a), (b), (c) R (e) 3) (a), (b), (c) and (e)
(4) e (e) 4) Only (o)

L

100. = % 99 % SR T ggM ¥ 9 Meo-=e3=A | 1000 Which teaching strategy should be

=1 = < ST =ifey ? preferred for teaching about gram plant ?
(1) STRER ¥ HeH H 45-990 (1)  Field visit in the month of October
(2 TR = % 1Y F e W ey (2)  Film on the life of a gram plant
() TR IR Hreel 1 STFRT (3)  Use of charts and models
\(}1/\ weviA fafy (4)  Demonstration method
-000- -00o0-
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